
Ékszíjhajtás számítása 
 

                                                                                             Név:……………………………….. 

Neptun kód:……………………………….. 

                                                                                         Csoport:….…………………………... 

 

 

2. Órai munka eredménylap 
 

 

1. Részeredmények: 

 

1c         'a    [mm]    

3c      

1k      

2k        

 

 

2. Eredmények: 

 

w1d    [mm]    a    [mm]   

2wd    [mm]        [fok] 

 

A választott keskeny szíjtípus:   z    [db] 

       kF    [N] 

wL    [mm]    hF    [N] 

                                                                                    

 

 

 

 


